Puissances de Dix (H)

Trouvez chaque produit ou quotient.

9,86 X 100 = 8,027 - 100 =
5,0555x 1000 = 3,69 - 10 =

3,8 1000 = 1,9262 X 100 =
1,2 x 100 = 7,65 +10 =
4,33 +1000 = 58+10=
9,8862 x 100 = 4,8549 x 100 =
1,79 x 10 = 6,5+ 1000 =
2,5%x10= 6,464 +- 1 000 =
8,0457 - 10 = 2,991 x 100 =
9,94 x 100 = 9,86 X 1000 =
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Puissances de Dix (H) Solutions

Trouvez chaque produit ou quotient.

9,86 X 100 =986

5,0555x 1000 =15055,5

3,8 x1000=3800

1,2 x100=120

4,33 +1000=0,00433

9,8862 x 100 = 988,62

1,79 x10=17,9

2,5x10=25

8,0457 =10 =0,80457

9,94 x 100 =994

8,027 +-100 =0,08027

3,69 +-10=0,369

1,9262 X 100 = 192,62

7,65 +10=0,765

58-+10=0,58

4,8549 x 100 = 485,49

6,5+ 1000=0,0065

6,464 +-1 000 = 0,006464

2,991 x 100 = 299,1

9,86 X 1000 =9 860
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